54. Emerging Markets
1. Missing words
___________________ countries such as Britain are attractive to firms because they offer large, quite stable markets. If sales of baked beans in Britain last year came to £400 million, sales this year will be very similar. Less Developed Counties tend to share two characteristics: low income levels mean that market _______________ are quite small (especially in value terms); and sales can be highly erratic, perhaps because a bad harvest hits people’s disposable incomes. Although ‘Emerging Markets’ are less developed, their underlying ______________rates are high enough to excite interest from western businesses. Everyone wants to be in at the start of ‘the new China’ or ‘the new ____________’. Unfortunately, in the early stages, no-one can be sure whether an economy is ‘Emerging’ or likely to stay Less Developed for a long time to come.
Insert words from this list: growth, Undeveloped, shares, India, sizes, Developed, inflation 

2. Data Response (questions 2.1 – 2.3 are based on this Table of data)
	 Country
	GDP growth*
	GNI p.p. U.S.$s**
	Popn (ms)***

	Bolivia
	1.80%
	2,550
	11

	Brazil
	1.70%
	11,690
	204

	China
	9.40%
	6,560
	1,367

	India
	5.00%
	1,570
	1,252

	Malaysia
	3.10%
	10,400
	30

	S. Korea
	4.40%
	25,920
	49

	UK
	2.10%
	38,250
	64

	*GDP per capita average 1990-2013; **Gross National Income per cap 2013; ***2015; Source: Unicef & CIA


2.1 Use data from the Table to explain the huge potential for investing in China compared with investing in the UK.
______________________________________________________________________________________

______________________________________________________________________________________
______________________________________________________________________________________
2.2 Growth compounded over an 20+ year period (1990-2013) can create huge changes. Growing at 1.7% (Brazil) creates total growth of 47.4% over 23 years; China’s 9.4% a year creates total growth of 789.5%. Outline one major advantage and one major disadvantage to China of such staggering growth.
______________________________________________________________________________________

______________________________________________________________________________________

2.3 Outline one possible reason why a large U.S. company might choose to invest heavily in a country like Bolivia.
______________________________________________________________________________________

______________________________________________________________________________________

3. Link two effects to each possible cause of increased growth in a Less Developed Country
	Cause
	Ans
	Effect
	Effect

	3.1 Heavy levels of FDI (Foreign Direct Investment) coming into the country
	
	A) Farmers find it easier to sell produce at regional markets
	E) Less government spending on arms may allow income tax to fall

	3.2 After years of internal conflict/civil war, democracy is securely established
	
	B) If less bribery is needed, more young people will start in business
	F) More factory construction provides jobs for local workers

	3.3 The government starts encouraging local business instead of exploiting it
	
	C) New management methods and ideas are introduced
	G) Local firms are able to start developing nationwide brands

	3.4 Helped by international aid, the transport infrastructure is improved
	
	D) Easier for firms to take a long-term view if there is less corruption 
	H) More confidence in a peaceful future for businesses to thrive


54. ANSWERS: Emerging Markets
1. Developed …sizes …growth … India
2.1 China’s growth rate (if it continues) is hugely greater than in Britain; as average income levels are a sixth of UK levels*, the scope for growth is massive; and the population size means that, if China can grow to match UK average income, the Chinese market will be more than 20 times the size of the British market  
*The figures used are not adjusted for differences in costs of living; at Purchasing Power Parity, Chinese income levels are now about a third of the UK level
2.2 Advantage: the ability to virtually eliminate absolute poverty (e.g. starvation and high birth death rates)

Disadvantage: the environmental problems that come with affluence, such as traffic jams (hardly comparable with baby death rates, though!)

2.3 Based on the data, the only likely reasons would be if government allowed the company an outrageously profitable monopoly position, or if oil or other mineral resources were found.

3.1 C) F)

3.2 E) H)

3.3 B) D)

3.4 A) G)
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